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SETH R. C. S. ARTS & COMMERCE COLLEGE
MODEL EXAMINATION 2021-22

B.Com. - III (English Language)

Time — 3 Hours MM - 75
Note: Attempt all questions.
UNIT -1

Q1. Answer the following questions. (Any 3) 15
a. Write a brief summary of the poem “Three years she grew”.
b. Write a summary of the short story “Death of a Clerk”.
c.  Why are bores happy?
d. Write a summary of the essay “Democratic Decentralisation”.
e. What do you understand by Globalisation?

UNIT - 11

Q2.  Write an essay on any one. 15
(a) Status of women in India (b) Importance of English in India.
(c) Globalization & Privatisation. (d) Computer.

UNIT - 11

Q3.  Write a précis of the following passage. 5
A proper consideration of value of time inspire habits of punctuality. Punctuality is the politeness of kings the diety
of gentleman and the necessity of business. It is one of the ways in which we know our personal respect for those
whom we called upon to meet in the business of life. An appointment is a contract and he who does not keep it is
guilty of breaking faith. The person who is careless about time will be careless about business and he is not a
person to be trusted in matters of importance. The unpunctual man is a general disturber of other’s peace and
security. Everybody with whom he has to deal is thrown from time to time in a state of fever. He is systematically
late, regular only in his dealing tells upon a system always arrives at his appointment after time: gets to the railway
station after the train has started and posts his letters when the box has been closed. But the persons habitually
behind success.

UNIT -1V

Q Read the following passage and answer the questions given below: 5
Women are no longer prepared to accept the idea that woman’s chief function is to be a housewife and a mother.
They have begun to attach more importance to their financial independence. The women refuse to submit any
longer to the indignity of being considered as sexual object. They so exasperated by that sort of attitude that they
want to reorder nature itself. Women even questioned the necessity for females to bear offspring because it stands
in the way of their becoming autonomous individuals. In the fight against the domination of male in the society,
woman’s liberation tides and directed particularly against mass media like the press, the radio, the television etc.
they accuse these media of helping in perpetuating the with of male superiority and of sustaining the pressure in
favour of conforming value of a male dominated society. They feel enraged at the way the pictures of women are
used to adom the covers of magazines and journals and the way the female figure is put to work to promote sales of
all sorts of products.
Questions:
1- What is the main change we find in woman’s attitude?
2-  Which is the factor responsible for their dependence?
3- What does she want to do with nature?
4- What kind of domination is there in our society?
5- Why do women accuse mass media?

B. Give antonyms of the following words . 5
Guilt, precious, timid, ancient, sorrow, just, wild, poor

C. Match the words in Column A with Column B 5
(1) Dismantle a dishonest scheme
(2) Mortals bring down
3) Scam follow
4) Cranium people liable to death

5) Pursue hard part of the head enclosing brain



UNIT -V

Do as directed any twenty five of the followings. 25
My father told me, “Have you done what is required”? (Change the narration)

We cannot solve this problem. (Change the voice)

He died ---------- cholera. (insert preposition)

Newton was ---------- eminent scientist (insert article)

How beautiful the rose is! (Change into assertive sentence)

“Go and take rest at Home”, the doctor said to the patient. (change the narration)

He is more intelligent ---------- his brother. (insert the mission word)

There is ---------- water in the jug. (insert few/little)

A e RS N I S

Persons ---------- work, in the army defend our borders. (correct relative)

—
=

. I do not have ---------- milk in my glass. (some/any)

—_
—_—

. You must do your duty. (change the voice)

—_
[\

. Give synonym of the word ‘precious’

—_
w

. It is raining for 9 O’clock (correct the sentence)

—
~

. Mr. David is an European. (correct the article)

—_—
(9]

. T have lost my ---------- of keys (insert collective noun)

—
=)}

. He is the best player in the team. (change the degree)

—_
3

. They will meet us ---------- the plate form. (correct preposition)

—_
o]

. The patient is too weak to walk. (Restructure the sentence removing “too”)

—_
Ne)

. You cannot swim. (Give a question tag.)

[\
S

. When I was returning from the office I ---------- a peculiar incident. (use seen/saw)

[\
—

. You are very clever (change into an exclamatory sentence)

N
\S}

. The lion ---------- (Complete the sentence using chatters or roars.)

N
W

. This town is really boring there is ---------- to go in the evening. (supply everywhere/no where)

)
=

. All of you have heard about Ujjain ---------- ? (use correct question tag)

N
()]

. You must iron this dress for tonight. (change into passive voice)

[\
(@)}

. Chhattisgarh has great mineral ---------- (wealthy). [Rewrite using noun form of the adjective within the
bracket]

27. The school ---------- assembled by ten o’clock. (use was or were)
28. He was accused ---------- murder (insert preposition)

29. Did the noise frighten you? (change the voice)
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it U Ul @ SR IRNTY | TS SRS W US U &R AfFEr 7| W uREl & i
A B | T8l Maead & TvEg ey |

Attempt all the five question. One question from each unit is compulsory. All question carry
equal marks. Working notes is a part of question.

Unit — 1 (5&T8 — 1)

0 T WRA &1 ARS8, oifdd WRd H SrRer FaRd & | SHa freifea witaar @ e) angdn

P daer # fadeEr i

(31) 3MR®T H UH AR ¥ 180000 ®O0 HAN IR I8 o™ WRA ol AT TAT| HREAT AR DI I
<@ o, Safd 98 SHRET H BIar o |

(@) MR®T & TH DU H DI T WA BT UIRSIHDG 150000 F0 HRBT & Udh o H AT B (T
AT TAT IFD Il 916 I8 ARA Wl (7 137 |

(W) IHRBT H Rerd AGH—|Hd & SRR A il oM 285000 W0 AT faeell (Ra) H Rerd @ie
% TRV | 9T Yol o 330000 30 |

(3) MR&T H IqT HATAT 450000 FO

() SR (roreer) H Rerd &Y A & 3T 550000 0

Mr. ‘N’ is an Indian citizen but not ordinarily resident in India. Discuss the assessability of the following

items of the receipts:

(a) Rs. 180000 were earned from a business in America and the profits have been remitted to India. The
assessee operated the business only when he was in America.

(b) Remuneration of Rs. 150000 due to him for services rendered in American Company was credited to
his bank account in America and immediately thereafter remitted to India.

(c) Capital gains Rs. 285000 from transfer of house in America and Rs. 330000 from transfer of plot
situated in Delhi in India.

(d) Salary earned in America Rs. 450000.

(e) Agricultural Income, land situated in Jaipur (Rajasthan) Rs. 550000

Or (3feran)
U U8 31 & Hal Pl AHSIRAT Sl Gl I H T8I ST e |

Explain any fifteen items which are not included in total income.
Or (3feran)

frfaRad asmax faRay : (@1) 7 a9 (@) HRET (4) T (]) MHRADG T
Explain the following terms: (i) Previous Year (ii) Assessee (iii) Income (iv) Casual Income.
Unit — 2 (SFTE — 2)

# FAGT HAR BT 7500 WO URT AE HA I, 750 w0 U HIE HEMS ddd AT 500 WO Ui AIE
HEITE el Tl 81 R8T 8| 7 a9 # S foret st +ff et g

1. TAd ¢ H SILT B FHT IS ol FAT BT YT & foll 10800 H0 HedlT |
2. &1 YA B Ruem & fau 120 w0 #Y® Ul g e v |

3. A SFI g3 BEEN # © @ T R W sl 799 HAR 500 w0 Ufd AR UfT 4 @ 9 @ B
S 39 @ 91 gt @ g 350 wo Ui Wi Uiy gF BTEE Wl e W@ R |

4. ST &9 9ol 350 w0 Ufd 18 |
5. AR 9T 100 w0 Uy 718 S a8 Afdaird draf & fofv T &xar 2 |

6. HbI b Yodr 200 w0 Ufd 918 |
1




T FAIS GAR A AT R P [AY VP AP [TRIGR H 1000 W0 Uy A8 & bRy wR forar gam & |
I AU JHION Uifdeue wUe H el dad AT HElS dad Bl 12% IIRMG dHRal § A Harer
ST B AT Rl B |

PR IR ay 2021—22 & T 3 #9191 HAR B HI—ATI I DI ITOHT HIT |

Shri. Manoj Kumar is getting Rs. 7500 p.m. as basic pay, Rs. 750 p.m. as dearness pay and Rs. 500 p.m. as
dearness allowance. During the previous year he received the following allowances also:
1. Rs. 10800 as allowance for reimbursement of personal expenditure while on duty during the running of

truck.
2. Rs. 120 p.m. per son as education allowance for the education of his two sons.
3. Both these sons are living in a hostel on whom Shri. Manoj Kumar is spending Rs. 500 p.m. per son.

He is getting Rs. 350 p.m. per son as Hostel Allowance for meeting this expenditure.
4. Rs. 350 p.m. as Tribal Area Allowance.
5. Rs. 100 p.m. as Conveyance Allowance which is used by him for private purposes.
6. Rs. 200 p.m. as House Rent Allowance.
Shri. Manoj Kumar has taken a house for his residence at Bilaspur at Rs. 1000 per month as rent. He
contributes 12% of his basic pay and dearness pay to his Recognised Provident Fund and the employer also
contributes a similar amount.

Compute the taxable salary of Shri. Manoj Kumar for the Assessment Year 2021-22
Or (3reran)

fiRe A IR A ARl & @r &, R fJaver 771 1aR § —

1. A& T TRUMAST Hedidhd FHT: 8000 WO, 6000 ¥, 9000 O, 12000 WO Td 8000 FO ¥ |
RIS TR §HS 1D BT 10% 5, I {6 o A & gRT a1 faam mam 7 |

2. UYH HHH S WY P A H YA Bl € | 59 AfIRad fadiig qH BT 1,/3 AqrT A WY
@ ST H o € Ud 99 2,/3 9FT sAfeely @1 300 wo Ul A fv R A | g we
1 IR BT 700 W0 Ul A8 o’ R A1 & Ud Iqef AdM 9% 3ih ASRTE &I 15000 W0
afies fR W fear 3| AaM & FRAEd T W@—I@d &1 @ d6 R g | gigat 7ee o A @
WA & gled & oy uged 8l © |

3. I ABE BT T 1 TS 2016 BT URH B3I Td 1 AAFCAR 2017 DI TIBR TAR AT | I§ ABIA
1 SIeRT 2018 BT [ TR I3T QAT TAT| §9 FbM & AT 8 IAH Teb 0T forar g wR
Ty 2020—21 H 1000 W0 TS F&H1AT | $9b Yd S99 fUwd a9l & forg 71 yaR =1a1 g
2016—17, 1500 %0; 2017—18, 1400 %0; 2018—19, 1300 ®0 Ud 2019—20, 1200 %0

PR FEIRT a¥ 2021—22 & Y AHE—FHT BT 3 AT BIOIT |

Mr. A is the owner of four houses, whose particulars are as under:

1. Municipal valuation of houses Rs. 8000, Rs. 6000, Rs. 9000, Rs. 1200 and Rs. 8000 per annum
respectively. Municipal tax is 10% of valuations which was paid by Mr. A.

2. The first house is occupied by Mr. A for self residence. Besides this he also uses 1/3 portion of the
second house in self use, remaining 2/3 part is let out to Mr. Dileep at Rs. 300 per month, the third
house is let out to Mr. Rajesh at Rs. 700 per month. Fourth house is let out to Bank of Maharashtra at
Rs. 15000 per annum. Bank is responsible for repairs and maintenance of the house. The fifth house is
used as Mr. A’s hotel.

3. The construction of third house was started on st July, 2016 and completed on Ist Oct., 2017. This
house was let out on Ist Jan., 2018. He has taken a loan for construction of this house and interest paid
Rs. 1000 in the previous year 2020-21. Before it, he paid interest for past previous years as follows:
2016-17 Rs. 1500, 2017-18 Rs. 1400, 2018-19 Rs. 1300 and 2019-20 Rs. 1200.

Compute his income from house property for the A.Y. 2021-22




Unit — 3 (3T — 3)

N T A Tl e AcE Tahse B S 31 Y, 2021 B 9HC B dTdl @y & forg fae
MI—egY QT g7 & —

Shri N. C. Sharma is Chartered Accountant. He has prepared the following income and expenditure for the
year ending 31* March 2021 —

3T — g 9rdl (Income & Expenditure Account)

gY (Expenditure) W0 | 3T (Income) ™0
Fraferd &g (Office Exp.) 10000 | 3(HET Yebh (Audit Fees) 170500
FHHATRIT BT da (Employee Salary) 5000 | TaN A SUBR (Gift from father in law) 5050
qIa (@f¥e e ¥ ) 5500 | SITTeT (Dividend) 8000
Books (Other than annual publication) fafar @ e w® o™ 6450
St @1 (Personal Exp.) 102000 | (Profit on sale of investment)
GR&TT B H & (Donation to N.D.F) 500
15T (Interest) 700
3T PX (Income Tax) 13300
DR Iy (Car Exp.) 2000
g€ AT (Net Surplus) 51000

190000 190000

3T 711 qTdl BT & H I Y BR—IRIT 9§ 2021—22 P JGAR B T S B & —

1. BR P IYIN S d ol $AT § SRR BT @ Gd SR S & g Widhd 814
500 W0 ¥ |
FHHARGT & daT H 1000 W0 €] G & AfAfT 7 |
For foolt &1 & fore forar ar & |

You are required to compute his professional income for the assessment year 2021-22 considering the

following points -

1. The car is used equally in official and personal purpose and the depreciation allowed for official work
is Rs.500.

2. Rs. 1000 domestic servant salary is included in employees Salary.

3. Loan has been taken for personal purposes.
Or (3feran)

fAEER 1S <1 SfUFIl o FHIAT a9 01.04.2020 W 31.03.2021 & QR §d1 Sl 59 UbR A 2 —
1. 3IMYYT, JATNTA 80000 WO (S ST 2018 # U fay) W 2020 # 100000 %0 @& o< Y |

2. PIABIAT H Y81 & Igavd W R TR ISMAT G HHT 31.10.2020 BT 1400000 W0 H =T | 01.04.
2001 I I ISR &I 300000 0 | 2009—10 H IFDH! FEIR TR AN 29600 %0 | BRI Y
25000 ®0 2 |

3. BN WAraR 2009 ¥ SIS AN 14000 %0 off, ATE 2021 H 26000 %0 T o= |
4. R 01.12.2020 BT 45000 w0 H = FSTABI UfIRIT T 01.04.2020 HT 38000 FO oI |

5. 01.01.2021 Pl WY B BN 4fH 800000 WO H Th AT & A=<l AR wY A SRR B
o TS RTIdY 2003—04 H NI 65400 W0 oY |

IS FA Yol M B ITUET BT | AN TDIT FaADBIDH 2001—02 H 100; 2003—04 H 109; 2009—10
# 148; 3R 2020—21 H 301 T |




Mr. Ajay sold some of his property duringthe year 1-4-2020 to 31-3-2021 as under:
1. Jewellery costing Rs.80000 (which was acquired in June 2018) was sold for Rs.100000 in May 2020

2. House at Kolkata: Let out for residential purposes. Its sale price on 31-10-2020 Rs.1400000. Fair
market value on 1-4-2001 Rs. 300000. Cost of improvement made during 2009-10 Rs. 29600.
Expenses on transfer are Rs. 25000

Household Furniture costing Rs. 14000 in 2009 was sold in March 2021 for Rs. 26000
4. Car was sold on 1-12-2020 for Rs. 45000 its written down value on 1-4-2020 was Rs. 38000

Self cultivated land was compulsorily acquired under a law for Rs. 800000 on 1-1-2021 and its cost in
2003-04 was Rs. 65400

Compute his total capital gain. Cost inflation indices are 2001-02 — 100, 2003-04 — 109, 2009-10 — 148,
and 2020-21 — 301.
Unit — 4 (&S — 4)

37 Tl Uo7 T[Sl Western India Ltd., Mumbai % ®RIRT 8, ¥ 31 A/ 2021 & FATK 84 dTel a9
% forg o 3ma &1 e faaRer wRga e 2
1. Id9 12000 w0 UfT & |

2. B AE & da9 P a}ER 999 |
HART 9T 650 W0 YT AT (HTATerd 3T TAT Y- B8R 99 o & o1y ) |
ARG T 500 W0 Ui 18 |

T | 3000 w0 HIR® AHM BRI A Ura fHAT TRy SET 4000 w0 HINDG fRRR BT

A fbar |

6. M g1 @fdra fRafeear & 10000 w0 & @1 @1 gid & T | IHBT A T TR
AR B W gt & Rt Aifere FRiter 8 © |

7. S99 BUAl B THING UifISTs WUS H IIUAT IHSTH 18000 w0 fIIT SR e I Wi saem &1
3ferar faar| 9.5% ufd g9 @1 &% I 12000 w0 YIFASUS HUS TR TS STHT 83T |

8. WRGNI UKl 9= =TS 3000 %0 |

9. AU DY & Il A 3 5500 W0 HHA |

10. 9 H HT R =TS 3000 %0 |

11, Y93 & TSI 37Tl BIY H &9 2500 w0 T |

12. IRHR BT IRIR A= & U 2000 w0 <9 feam|

13. St |1 NERIE 4200 w0 47|

PR IR 99 2021—22 & g s AT YuOT [T BT Bl M DI T PIIQ AT T8 M
Al gaTgy 7 UR BRETAT GRT 80C & =T Dkl U Bl DRI & |
Shri. Anil Bhushan Gupta, working in Western India Limited, Mumbai, has furnished the following details
of his income for the year ended March 31, 2021:
1. Salary Rs. 12000 per month.

o &~ o

2. Bonus equal to six months salary.

3. Transport Allowance (spent for coming to office and going back to his home) at Rs. 650 per month.
4. Entertainment Allowance at Rs. 500 per month.
5

Received house rent allowance of Rs. 3000 per month from the employer, but he paid a rent of
Rs.4000 p.m.

6. Personal medical bills of Rs. 10000 were reimbursed by the employer. His treatment has been done in
a private nursing home not belonging to the employer.

7. His contribution to the company’s Recognised Provident Fund is Rs. 18000 and the employer
contributes an equal amount. The interest credited to the Provident Fund Account 9.5% per annum
Rs.12000.

4



U0 5.

8. Interest on Government Securities Rs. 3000

9. Income from units of Mutual Fund Rs. 5500 Gross.

10. Interest on bank deposits received Rs.3000

11. Donation paid to Prime Minister’s Drought Relief Fund Rs.2500

12. Donation paid to Government for the promotion of family planning Rs. 2000
13. Life Insurance Premium paid during the year Rs. 4200

Compute the total income of Shri Anil Bhushan Gupta for the assessment year 2021-22 and also state the
amount entitled to deduction u/s 80C.

Or (3feran)
BH BT Bl AT B AT D BT ST 8?2 VAT ITUFT BT b Uiey ST |

How is the total income of a firm computed? Give a proforma of such computation.

Unit — 5 (3BT — 5)

e Uela er—feiRer qar 8?2 gg fd aRRefadl d fear S wedr & den 0 -k & @n
RO B &7 U $HR—ERUT BT IGQ 1T HeNEd &3 & SUr™l &1 |l quie HIfTT |
What is an ex-parte assessment? In what circumstances can it be made and what are the consequences that

flow from such an assessment? Also state the remedies open to get such an assessment set aside or
modified?

Or (3reran)

ST SRl (RT H fFardl, g 82 ) &I fawig a9y 2021—22 H 71 &R AFY A B BT AN
- w0 %0
YR A A 1200000
LeBTe ol AM—10 FFCAR 2021 25000
U9 §F @1 U IRET H e o7 )R &l (9dha) 20000
ATHIET 3000
AT GId R TS 6000 29000

1254000
1. 98 39 99 ¥ 319+ Sftaq 1 &1 fova < 25000
2. AduIfe difasve wos H S def) 70000
3. WIHAT BT BN # fag 25000
4. @Ry i1 NffH der faar 2000

foretr ¥ 202122 % PR R OB S R P R E TR AR

Smt. Joshi (Resident in India, aged 82 years) has estimated the following taxable income for the financial year

2021-22 : Rs. Rs.
Income from Business 1200000
Long-term Capital Gains — 10 Oct., 2021 25000
Interest (gross) on F.D. from a branch of P.N.B. 20000
Dividend 3000
Interest on Savings Bank A/c ~ 6000 29000
1254000
1. She will pay life insurance premium on her own life 25000
2. She will deposit in P.P.F. 70000
3. Paid to P.M. Relief Fund 25000
4. Health insurance premium paid in cash 2000

Determine the amount payable as advance tax on prescribed dates during financial year 2021-22



A3 IR, . TH. Hell T4 Ay Helfdernerd g (8.7)
S URIET — 2019—20
9§l B, — 3
Indirect Tax with GST (3T9I& DY SITACT Higd)

e 9 g gl B SR SN | e U @ T 3 2 |

Attempt all the five questions. All question carry equal marks.

Unit — 1 &8 — 1)
Q1. < gos &1 AT & forg A= UeR & Yodb S B B (918 FHISY |

Discuss the method of computation of various types of Customs Duty.

Or (312ran)

faema TS 9 oFiR®T & & w9 10000 STeR [oa &1 faHaR 2018 # AT PY| 7 faaver 50
TPR § —

1. IARPT I YR IS8 ddb ATl 700 SfolR

2. 991 Yob IRA H GBI 460 STelR

3. fIFMa SR 9RT 143)(a)() & TTIR H=1F 9l RT AT [0 65 =T SlelR

4. Rod 99 grr afva fafmg <= [0 64 = TP SleR

5. BYcH §YCT Bl Hf & 20%

6. e gl YR &I HT WRA H AR il ar Sgac! &1 & gredl 12%

7. HINSTD bedl AR 10%

JrTTD U 7Y fadar &, R 799 &1 g e & oy smara fdar ¢ |
Fl T AT Yo b M IA18T |

Vishal Machineries has imported a machine from America in Dec. 2018 at the price of 10000 (dollar).
Other details are as under :-

1. Freight from America to Indian port 700 dollar
2. Insurance paid to insurer in India 460 dollar
3. Rate of exchange as announced by Central of Excise & Customs u/s 14(3)(a)(i) Rs.65 =1 dollar
4. Rate of exchange as announced by RBI Rs. 64 =1 dollar
5. Customs duty payable 20%
6. GST on such goods 12%
7. Social welfare surcharge 10%

Importer is trader who has imported goods for subsequent sale in India.
Find the customs duty payable.

Unit —2 &8 — 2)
Q2. BITE JEHRI AT & AT AZH, WRAT T U H AR U] HT g HIFTT |

Discuss the provisions of Chhattisgarh Excise Act, relating to License, Permits and Passes.




Or (3reran)
TP WUSR € ¥ frAfeRed e teef 9y #§ i i | e ged @ AT BRiNTe
BN Yoo ITH @ sicvia FufRa ® | AIfrg |

(1) <= A= ard 8900 U <flex
(2) <t 9fezr w™TeRR 17100 Y% @i
(@) st fAferd) e &1 fawa! 4800 Y oflcx
(@RETT §R I 850 %0 UfT &)
(4) T ©IET B §HE & oI AT &R DI AN 800 foraIrum
(6) T & ARRIFERT ATURT DI IR 12000 Y% e
(@ERETT §R I 735 w0 UfT @)
6) T ® ATURY BT ANT 2050 foetrum
(7) oftrgpa fAfad &< &1 IR 2520 o Tilex
8) T & IRR IR B dR”R 12096 g e
(0) “RI—faea W™ gfors a<e &l dRR 38200 o Tl
(10) SHERI &I faceh IR 4600 U cilcx

The following intoxicants were issued from a warehouse during the year. Compute the amount of excise
duty payable under Chhattisgarh Excise Act.

(1) Plain Country Liquor 8900 Proof Litres
(2) Spiced Country Liquor 17100 Proof Litres
(3) Whisky to authorized Military Organisation 4800 Proof Litres
(Ex-factory rate Rs.850 per case)
(4) Bhang to licence holder for shop of Bhang Ghota 800 Kilograms
(5) Wine to licence holder (ex-factory rate Rs.735 per case) 12000 Proof Litres
(6) Bhang to Durg Trader 2050 Kilogram
(7) Beer to Authorised Military Canteen 2520 Bulk Litre
(8) Beer to Beer Bar Durg 12096 Bulk Litre
(9) Beer to Indo-Tibbet Border Police 38200 Bulk Litre
(10) Foreign Liquor to contractors 4600 proof Litres

Unit - 3 (g&T5 — 3)
Q 3. 91 Vg HaTdR BT AR FHSSY | SIYACT AN {6 ST @l Sfaedasal Td [o—aly qarsy |

Discuss the concept of Goods and Services Tax (GST), Point out reasons for adoption of GST and discuss its
merits and demerits.

Or (372ran)
RS SIUAST T Q18”1 SYAS] # 3R 918y | 9IRA H QI8XT SIUHS! UM & &1 HROT © 2
Distinguish between National GST and Dual GST. What are the reason for adoption Dual GST in India?

Unit — 4 &S — 4)
Q4. Sl & AT A1 SR JaRll & Y & W FeiRer Gaell yraer |qHsisy |

Discuss the provisions of GST relating to determination of place of goods and services supplied.

2




Or (sreran)

o Fmtar FrafeiRom wat o v wvie 6 9 g wewe gan-

(1) == = qEE 4,50,000 %, (vrer S g ge)

(2) af=ea vy 9 =g 15,000 %. @ § e @ 9= 9
(3) wfEes = 25,000 %. (@t § s & =9 9490

(4} e ue e weaft = 20,000 %, (@i F som @ =)
(51 =it i 21 15%

i6) 30 fm & it o w FEafim wam w 16% =i s

ﬁﬁ%ﬁamﬁﬁmmﬁmﬁmﬁﬁquﬂhaﬁqﬁmﬁﬁq

(i =vEafE aftaes = 26,000 5. g1
(i) ¥ e 30 R % ar W 95 9 5,000 %, sare wr R

A manufacturer has agreed to supply & machine on following terms —

(1) CIF price of the machine at T 4. 50,000,
{2} Packing for transportation of the machine T 15,000, (mot c

krroraice ) e

(4]
(5) GST Rate 18%.
(5]

i3] Tanspori charges of machinerny T 25 000, inot charged separately in imeoice}
Development and tooling charges T 40,000, {separately charged in invoica),

Interest will be charged & 16% on delaved payment beyond 30 days,

Work out the total walue paysble by recipient based on following additicnal

imlormation—

(i} Actusl tramsportation cost s T 26,000,

45i] - aberest of T 5,000 wos charged as party has failed to make paywment within

20 days,

Unit — 5 (g7 — 5)
QS. 7w ficg s, 3=k & [Py &1 v f=fafed o

1. dHe (@R DT T 28%)

2. SIS (HU B fUT WY TS, B DI SR 12%)

3. UMl gRT eI ¥ 35 &1 ed (@R &1 <R )

4. ST UG S AY. B AT el 9 BT (AR DI < 18%)

5. dAgfhel (BRIAT A WL, & BT &% 12%)

6. A% cgew (G roRisdg &R # 92 1Y B) (@R &I &% 18%)
7. WereR (Aol & Uolia AUl 9 &9, TR DI &% 18%)

8. T P AWM (USTd & Usiiha AR I TRIGT, B B &R 12%)
AR & SIYHST SR 1 70T BHIfTY |

The particulars of sales of M/s. Bittu Enterprises of Indore are as under-
Cement (Rate of tax 28%)

Medicines (Purchased from Registered dealer of M.P) rate of tax 12%

Sales of animals operated agricultural equipment (Rate of tax zero)

Iron and Steel (Tax Paid) purchased from Rolling Mills of M.P (Tax rate 18%)
Cycles (Purchased from Hariyana) Rate of Tax 12%

Tiles (Sold in the course of Interstate trade) rate of profit 18%

Furniture (Purchased from Delhi Regd. Dealer) Rate of tax 18%

Sports Material (Purchased from registered dealer of Punjab rate of Tax 12%)
Compute GST liability of dealer.

el A o e

PN M &
1740000

1272000
1500000
822000
338000
762000
212000
176000

1740000
1272000
1500000
822000
338000
762000
212000
176000



Or (372ran)

o wUe SIRIel to e SOl | S84 U+ Jafdshal | o+ wamsi & fog ffafad
IR g BT —
1. MgEl & TR DI JIR BIA DI GRS 417500 w0

2. TR 9 B TRl BT Wighd BRE g O (AT Yo 195300 W0 Sl wife w@nAal |
gl fbar |

3. 9o« AT tRTHel ged, AT aTa @1 2%, 3G a9 H 3.5 BRIS & BRI 9D WREY 4 B
T |

4. P Ud IRRIYY & Sqaed 9 T vau wwfcqdl & Hedidd gg Yo 98000 F0

A SIRTSN Bl 3191 WA YeTd HRd & folU Hrafeld, SUBRU, Sollhld, digd anfe R
18000%0 YT ATE &I HRAT Tl ¢ |

FT 0 IR STEST g™ & foly IRerll 87 afe &, ar f6g iy v v faam ?
SIgEET aied @ <= H 98 fad # 18% 1 IR 3T | 1ol oxd ¢ |

Mr. Rupesh Jaroli is a civil engineer. He received the following remuneration from the clients rendering
services —

1. Remuneration for making drawings of building Rs.417500

2. The fees deposit by him Rs.195300 to municipal corporation for passing drawings and thereafter it was
recovered from plot holders.

3. He charged building construction consultancy supervision fee @ 2% on cost of construction. During the
half year works completed amounting to Rs.3.5 crore under his supervision.

4. Valuation fees Rs.98000 for completed buildings from loan and taxation point of view.

Does Jaroli spends Rs.18000 per month to provide services on account of office, equipments,
telephone, vehicles etc.

Is Mr. Jaroli liable to pay GST, if yes, on which amount and how much? In case of tax liability he
charged tax it separately in bill @ 18%.
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4. $M. — 3
sidperor (Auditing)
qHg  dE Ee quiis : 75

e |l e Yl @ SR Al | |9l el @ 3 dH ¢ |
Attempt all the five questions. All question carry equal marks.

Unit — 1 S&T8 — 1)
g 1. 3fderr & A= geRl o1 Ha § wHsmsy |
Explain in brief the different types of Audit.

Or (312ran)
BV PRIFGH R & TAT I8 P YHR TIR a1 S 27 $96 [o—ay Id1sd |
What is an Audit Programme and how is it prepared? Discuss its merits and demerits.
Unit — 2 (S&TS — 2)
U3 2. YA &1 8 ? YA b HE Bl ISy |
What is Vouching? Explain the significance of Vouching.
Or (372ran)
MaR® PRSI 71 § ? 39 99T SGavd ® 2 T IMARe fIeror 799 BT AW R < ® ?
What is Internal Check? What are its objects? Does internal check render fraud impossible?
Unit - 3 (915 — 3)
U9 3. HUI 3fDeTH o BRI MR Hoal oI fadaer sy |
Discuss the rights and duties a Company Auditor?
Or (312ran)
T BT BUT & Tl BT AbeT0] B THI & R dTell 99 qral B = STy |
Describe various issues involved during audit of accounts in case of a banking company.
Unit — 4 (3PS — 4)
U9 4. Hedidh RIT 27 Jedid- & Igavdl Ud Hufed & Hodidd deeh ol & gargy |
What is Valuation? Discuss the objectives and principle of valuation of assets.
Or (37eran)
SR Bl R TR | $9e {1 JRI &l aarsd |
Define investigation. Explain its various kinds.
Unit — 5 (S&TS — 5)
U 5. TANTA JHefoT B GRETT IITQ | ARTH ADHeT0T & Iqael DT Ui HIFTY | AT AbeToT & YbR foriay |
Define Cost Audit. Discuss the objects of Cost Audit. Also discuss the various types of Cost Audit.
Or (312ran)

f=ferRad ur wdfera fewfor ferfay -
Write short notes on the following:

(1) uder 3fderoT (Management Audit)
(2) AT 3f®HeToT (Social Audit)

(3) B fBeT (Tax Audit)



Ho SR, ¥l TH. Sl U9 1oy Jelfdened g (8.)
ST URIE — 2021—22
9§l & 3
Management Accounting
T W Ee Uil : 75
e 9 U YTl @ SR QoY | T SHTe A U U Rl AT 2 | I TRl @ |HM 3 T |

Attempt all the five questions. One question from each unit is compulsory. All questions carry equal

marks.
Unit — 1 &5 — 1)
3T 1. gD @i Bl GRETST ST | Y- oiRdih I Ui, BT T &3 Bl Ty |

Define Management Accounting. Explain the nature, function and scope of Management Accounting.

Or (31eran)

From the following particulars find oul stock lurRover rabo |

Frefifian faeon | wF sad sam 3 =i

{a) Opening Stock (WA T=FH) R, 58000, Purchases (1) Rs. 4.84, (XD,
Sales (TRT) Rs. 6,50,000; Rote of Gross Profit (¥ @ =1 ) 25% on
sakes.

(b) Sales (fw®l) Rs. 4,00,000: Gross Loss Ratio {#%6 7107 STH0) 25%:
Avertge Stock (3@ =F4) Rs. 1.00.000

{c) Sales (F=1) Rs. 8,20,000; Sales Rewrn (P or9ell) Rs. 70.000; Opening
Stock (WRfRF =28) R $4,000; Closing Stock {#FW ==9) Rs. 67.000;
Grass Profit Ratio 25% ( 9% 70 S500 25%)1

(d)  Opening Stock (FfRF =4) Rs. 2,00,000; Purchases (%9) Rs, 1280.000;
Purchase Return (3T =T9H1) Rs. 80,000: Closing Stock (WA =)
Rs. 1.00,000; Carriage Inward ( 3799 W57 K, 10,000

Unit — 2 (5318 — 2)

90 2. ddl fo. & R A fest & @) @ & Hdl 9 SUART &I fJaRer o (@) wriehd goit # gRads &
faaRoT 18T

From the following balance sheets of Nelco Ltd. make out (a) Fund flow statement, and (b) statement of
changes in working capital:

Balance Sheet (as on 31* March)

2018 2019 2018 2019
AT 3FT Gofl 4,00,000 | 5,00,000 | @Y (Goodwill) 90,000 80,000
(Equity share capital) ﬂﬁ[ AT HIq 2,80,000 1,70,000
5% MerTa qaffere™ 3o gofl | 2,00,000 | 1,00,000 | (Land & Building)
(5% Red. Pref. share capital) I T I 1,00,000 2,00,000
AT FIY (General Reserve 60,000 80,000 | (Plant & Machinery)
AT T 30,000 45,000 | fafAIT (Investment) 30,000 40,000
P&L Accm_mt) IER (Debtors) 1,80,000 2.10,000
ESIERESICIN 60,000 60,000 | ¥ (Stock) 80,000 | 1,20,000
(Proposed Dividend) s (Cash) 40,000 45,000
(Creditors) 30,000 45,000 | IRMS =TI 20,000 10,000
HR & forg 3marS (CL) 40,000 45,000 | (Priliminary Exp.)
8,20,000 8,75,000 8,20,000 8,75,000




U 4.

= arfaRed ga=md Y Suerer = -

1. % 7 Roraar SufeRad ge 36000 0 T, 40,000 0 # 9= TE | af 2019 H HIF R 15000 %0
BT HIeT 147 |

2. 99 2019 H JAARA A 30,000 FO FbAT |

3. YAIIBR AT BT AR 5% Jearel R fBar wm |

The following additional information is also available:

1. A machine has been sold for Rs. 40,000 whose written down value was Rs. 36,000. Depreciation of Rs.
15,000 has been charged on plant in 2019.

2. An interim dividend of Rs. 30,000 has been paid in 2019.

3. Preference shares were redeemed at 5% premium

Or (3reran)

s 9819 fdavor @1 & ? g9 4d SUANT dT JHY qaigy ?
What is Cash Flow Statement? Discuss its main uses and limitation.

Unit — 3 (518 — 3)

T fHTar R ol IcuTe &1 (S TGl H ea—dad AT &) 2,00,000 AR HUC | 3@ dF IATQ
X B 30,000 SHISAT AT SIS Y 3R Z b BT 20,000 SHIeAT Bl HFH (0T AT HRal &7 2 |
VT W T U AT & 6 il el Bl Bledy AR @I 4,18,000 ®0 B Il U S uRad=eid
AR H 1 1.5 ¢ 175 @1 31U & | Rl /1 2 w0 Ul gHiE 2| W9 ufd saiE el e Sae X @
foTg 6.25 %0, SR Y & U 7.5 W0 T S41E Z & oW 10.5 w0 2 AT f@iar @1 g1 8Kkil 2 | 98 STe
fAstor @1 71 YR g ATEdT ©

A manufacturer with a overall (interchangeable amount the product) capacity of 2,00,000 machine hours has
been so far producing a standard mix of 30,000 units of product X, 20,000 units of product Y and Z each. On
experience the total expenditure exclusive of his fixed charges is found to be Rs. 4,18,000 and the variable costs
ratio amount the product approximates 1 : 1.5 : 1.75 respectively per unit. The fixed charges comes to Rs. 2 per
unit. When the units selling price are Rs. 6.25 for X. Rs. 7.5 for Y and Rs. 10.5 for Z incurs a loss. He desire to
change the product mix as under:

I@rE (Product) 8191 (Mix)
1 2 3
X 36,000 30,000 44,000
Y 24,000 12,000 16,000
Z 14,000 26,000 16,000

AN oIEuTed & ®©9 § Y b Sare A7 & ue § v <

As a cost accountant what mix will you recommend?
Or @rm@n)
FA—fawes eyl / fawg &I |HSMSY | S9! T J9dlN ©

Explain Break-Even Analysis/Point. What are its presumptions?
Unit — 4 &5 — 4)

T HHT UP YA G P ScTa Bl o | STFATT Ufd SabTs aTa 7 & -

el AT 4 W0 U $1H 2 w0, YRR SURST 5 %0 | 31 gRad=eiiel NTd 39 UBK ©:
JTgcge] AT 235 W0, TYIET $TH 156 W0, YERWETG Ud AW 570 B0

g—gRacd=Ne arral § uRacd+eie g ufd sars = © -

el IMEIT 0.05 W0, YL 219 0.08 H0 YERWT Ud AT 0.10 H0

Rer oI 39 UBR & :

HREMT TR 2,000 F0, YD SURAT 3,000 w0, fd&T vd faaver IuReT 2,500 %0 |
SWRIFT AR 70% AT &FdT UR STfed 700 SHI3AT &1 2 | 95T g 30 wo Ul 3318 2 |
SR bl B ASTIAT I 60%, 80% TAT 100% ATHRY &HAT TR AR g9 JIR BT |




4o 5.

A company produces a standard product. The estimated costs per unit are as follows:

Raw Material Rs. 4; Direct Labour Rs.2; variable overheads Rs. 5. The semi-variable costs are:
Indirect Materials Rs.235; Indirect Labour Rs.156; Maintenance and Repairs Rs.570

The variable cost per unit included in semi-variable are:

Indirect Materials Re.0.05; Indirect Labour Re.0.08; Maintenance and Repairs Re.0.10

The fixed costs are: Factory Rs. 2,000; Administrative Rs.3,000; Selling and Distribution Rs.2,500
The above costs are for 70% normal capacity producing 700 units. The selling price is Rs.30 per units.
Prepare Flexible Budget for 60%, 80% and 100% normal capacities, with the help of above.

Or (31eran)
b guic ®f 37f gdgd | g HH JIR AT ST 27 SHD ATEING Hecd bl WK P |

Explain the meaning of Cash Budget. How is it prepared? Discuss its practical importance.

Unit — 5 (&8 — 5)

yATg aRTa fafer fr wed € ? YA ANTd 8iR dR<fdd orTd W 3R B & BRUN B auid HIfeTY |
AT ARTd 3R AT AR ¥ 3R W BIFY |

What is standard costing? Describe the causes of difference between standard costing and real costing. Explain
the difference between standard cost and estimated costs.

Or (31eran)

Tk YA AT & g9 orrd e @ (The standard cost of a chemical mixture is as follows:)

40% AT A 20 %0 UfT far UM (40% Material A at Rs.20 per kg.) :

60% AR B 30 w0 Ui fahell I (60% Material B at Rs.30 per kg.) :

IATEA H 10% T B B MM BT Sl 8 | AFTd if¥eld U {91y 3rafey & YT &7 g3 &
90 fdell AT A &% 18 w0 UfT fhar umH

110 Tl U™ AR B &% 34 w0 ufda favelr I

TS AT B IcaTrad ATAT 182 fhell M o1 | T AFEA fa=RO &1 o1 BT |

A standard loss of 10% of input is expected in production. The cost record for a period shows the following
usage:

90 kg material A at a cost of Rs. 18 per kg.
110 kg. material B at a cost of Rs. 34 per kg.

The quantity produced was 182 kg. of good product. Calculate all material variances.
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9. . — 3

(Financial Market Operation)
;e | quIie : 75

o 1.

o 2.

o 3.

o 4.

U0 5.

Y Ui gl B SR Sy | IS U B FHE 3P B

Attempt all the five questions. All question carry equal marks.
Unit — 1 &1§ — 1)
H&T d6IR & 9aq [Jbr ®I 93 | a1 R BT (AT &1 & forg a1 gema Ry S 9ad & |

Explain the recent development of money market. What remedies can you suggest to improve money market?

Or (31era)
frforRaa R wféra fewforat ferRay (Write short notes on the following) —
(1) rfd T8 (Acceptance House)
(2) AT gaT 919X (Call money market)

(3) dcaT T8 (Discount Houses)
Unit —2 &8 — 2)

T FfEe aeTR A et @1 Sy § 7 fgdiy aoiR 9 I8 fed yeR e § 7
What do you mean by New Issue Market? How does it differ from the secondary market?
Or (312ram)
frfeRaa 5 9 fog1 &1 R Wi fewfort foriRay | (Write short notes on any two)
(1) yrfA® 9TSTR (Primary Market)
(2) fa<® 9K @& @1 (Function of secondary market)
(3) WR sreferawer # Yoil 9Tk &1 #ew (Importance of capital market in Indian Economy)
(4) Tre g ¥y fafme fafice (Indian national stock exchange limited)

Unit — 3 (515 — 3)
gferfar argder van e ot 1956 & WHRI UTaee daisy |

Describe the main provisions of securities contract and Regulation Act, 1956.

Or (312ran)
I TH Il VT wWd ARl &, s a9t &1 favar 8 1 39 $U9 B W I |

“The SEBI is a single highly visible and independent regulating organization in which investors have trusted”.
Explain this statement.

Unit — 4 (3a1s — 4)
a9 yderd &1 aRIiYa HIRTY | 997 ders & S/t &1 guid BIfT |

Define Portfolio Management. Explain the functions of Portfolio Management.

Or (312ran)

frfeRaa @ 9 fog1 &1 R Wi fewfort foriRay | (Write short notes on any two)
(1) aoiR fA\far (Market Makers)

(2) <<l (Brokers)

(3) rfrardT ARART (Non-resident Indians)

Unit — 5 (s&1$ — 5)
Ao dPR I T T FHS 82 AIT db Dl T AN 8° 58 A ¥ (b1 S Aball 27

What do you understand by Merchant Bank? What are the problems of Merchant Banks? How can we remove?
Or (372ran)

Bfee ST F MY FIT TS 87 SHD UBRI, AT T HHmsi & 9o IR |
What do you understand by Credit Rating? Explain its kinds, advantages and limitations.
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Financial Management

L A T quiieh : 75

dre

U 1.

U 2.

) Ui el B SR SINY | U6 U3 B G99 3d 2 |

Attempt all the five questions. All question carry equal marks.
Unit — 1 (&5 — 1)
faciia gder @ gRwaTfya MY | gHa! RV vd w8 &1 @R S |
Define Financial Management. Explain its characteristics and importance.
Or (372ran)
TP IUPH B AT AeIdHArl &1 AU HY A omed ? iy fFrieq 3 f[fed weai &
JFT DI |

How do you estimate the Financial requirements of an enterprise? Explain the steps involved in Financial
Planning?

Unit — 2 & — 2)
o fqaRor a1 welAl X der Y 9 Hafd § —
The following details relate to the two Machines X and Y.

Machine X Machine Y

oI T (Cost) 56125 56125
AT gl (Estimated Life) 5 Year 5 Year
AU g (Estimated Salvage Value) 3000 3000
YT 3T B Ud BN @ 91G (Annual income after tax and Depreciation)

I Year 3375 11375
II Year 5375 9375
III Year 7375 7375
IV Year 9375 5375
V Year 11375 3375

79 TR R R 99 & 3 H MR BTN =T 25000 %0 |

Overhauling charges at the end of 34 year Rs.25000 in case of machine X Depreciation has been charged at
straight line method.

Y (Year) I I 11 I\% A
P.VF 0.909 0.826 0.751 0.683 0.621
Or (372ra)

Goll qoIfeTT &I gR9IG ST | 9@ I Ud g &l 9ol BHIfoTy |

Define Capital Budgeting. Discuss its Objectives and Importance.



Uz 3.

U= 4.

U 5.

Unit — 3 &5 — 3)

The following data relate to a ‘A’ Company:

fd%a (Sales) 200000
Less GRac=efiel @RTd (Variable Cost) 60000
32T (Contribution) 140000
Less: ReR @RTT (Fixed Cost) 100000
PR T4 ol 9 94 3 (EBIT) 40000
Less: 151 (Interest) 5000
FR 9 g4 3 (EBT) 35000

(1) uRETAT oflavsl @1 STFIROT BT YINT Hd gU ISy b @1 § 10% 3G 89 | & 9 &1 9 94
3 # faree ufoera gfg grft ?

Using the concept of operating Leverage, by what percentage will EBIT increase, if there is a 10% increase in
sales?

(2) faciia SfaRSt 1 STAIROT BT YANT HRd gU qarsy [ &= 9 <t | g g 7 6% gfg 89 9 g4
P11 H fobar ghg B8R ?
Using the concept of Financial Leverage, by what percentage will EBT increase, if EBIT increases by 6%?
(3) AT AR Bl TR GBI AN HRd 8¢ 918y & 3@ # 6% gfg a1 & = gfg erft ?
Using the concept of combined Leverage, by what percentage will EBT increase if sales increases by 6%?
Or (312ran)

Define ‘Cost of Capital’? How will you determine the cost of capital from different sources?

Unit — 4 (go78 — 4)
ArTE AT a1 2 ? ST RPN Bl ARAT DIGY I Y HAT Bl Aren iy o7 FeiRa ot g 2
What is Dividend Policy? Explain the various factors determining the dividend policy of a company?

Or (312r@n)

TdH HAO d URT 3T T 10%0 3R IR YOHdHRoT &R 10% 8 | ¥ & 96T 50%, 75% a2 100%
AT I ST BT f[AHe & | aleey G BT YANT B 312 & IR &I DI ITOET DI |
faframT g &) @1 15% @) 10% ) 8%
Earning per share of a company is Rs. 10 and Market Capitalization rate is 10%, The company has before it an
option of adopting a payment ratio of 50%, 75% and 100%
Using Walter formula of dividend payout. Compute the market value of the company’s share, if the rate of
internal investment (a) 15% (b) 10% (c) 8%

Unit — 5 (5% — 5)
PR Yol B FAeT IF AGURVT DI ARAT BITY | ST IIEROT QI | FaTeld g% BT T8
eI fd UHR e BT ® ?

What do you mean by Working Capital? Discuss such factors which exercise influence on the demand for
working capital in a business concern?

Or (372ra)
XYZ ®¥ 500 feedl & W8 # B Pl © Ol 3 A8 &I YN © | Ui fea orTa, 125 w0 2| 3R
JMMSTT 3 & AANTA 150 HO B | Thl d8d AT SHIs Jod BT 20% AT 2 |
1. A Wb NG & I ol Al NI a7 © ?
2. TAqerl e AET & TAN B A fha g9d R
XYZ company buys in lots of 500 boxes which is a 3 months’ supply. The cost per box is Rs.125 and the
ordering cost is Rs. 150. The inventory carrying cost is estimated at 20% of unit value.
1. What is the total annual cost of the existing inventory policy?

2. How much money could be saved by employing the economic order quantity?



